

# Homomorphism and quotient of fuzzy $k$ -hyperideals

**R. Ameri**<sup>a</sup>

<sup>a</sup>Department of Mathematics, University of Mazandaran,  
Babolsar, Iran

E-mail: ameri@umz.ac.ir

**H. Hedayati**<sup>b</sup>

<sup>b</sup>Department of Mathematics, Faculty of Basic Science,  
Babol University of Technology, Babol, Iran

E-mail: h.hedayati@nit.ac.ir, hedayati143@yahoo.com

## Abstract

In [15], we introduced the notion of weak (resp. strong) fuzzy  $k$ -hyperideal. In this note we investigate the behavior of them under homomorphisms of semihyperring. Also we define the quotient of fuzzy weak (resp. strong)  $k$ -hyperideals by a regular relation of semihyperring and obtain some results.

**Mathematics Subject Classification:** 20N20

**Keywords:** (semi-) hyperring, homomorphism, fuzzy weak (strong)  $k$ -hyperideals, regular relation, (fuzzy) quotient of  $k$ -hyperideals

# 1 Introduction

Following the introduction of fuzzy set by L. A. Zadeh in 1965 ([26]), the fuzzy set theory developed by Zadeh himself and can be found in mathematics and many applied areas. The concept of a fuzzy group was introduced by A. Rosenfeld in [24]. The notion of fuzzy ideals in a ring was introduced and studied by W. J. Liu [20]. T.K. Dutta and B. K. Biswas studied fuzzy ideals, fuzzy prime ideals of semirings in [14, 16] and they defined fuzzy ideals of semirings and fuzzy prime ideals of semirings and characterized fuzzy prime ideals of non-negative prime integers and determined all its prime ideals. Recently, Y. B. Jun, J. Neggeres and H. S. Kim ([16]) extended the concept of a L-fuzzy (characteristic) ideal left(resp. right) ideal of a ring to a semiring. S. I. Baik and H. S. Kim introduced the notion of fuzzy  $k$ -ideals in semirings [6].

Also a hypergroup was introduced by F. Marty ([23]), today the literature on hypergroups and related structures counts 400 odd items [8, 9, 25]. Among the several contexts which they arises is hyperrings. First M. Krasner studied hyperrings, which is a triple  $(R, +, \cdot)$ , where  $(R, +)$  is a canonical hypergroup and  $(R, \cdot)$  is a semigroup, such that for all  $a, b, c \in R$ ,  $a(b + c) = ab + ac$ ,  $(b + c)a = ba + ca$  ([18]). Zahedi and others introduced and studied the notion of fuzzy hyperalgebraic structures [3, 4, 5, 11, 12, 19, 27]. In [15] we introduced the notion of fuzzy weak (strong)  $k$ -hyperideal and then we obtained some related basic results. In this note we investigate the behavior of them under homomorphisms of semihyperrings. Also we define the quotient of fuzzy weak (strong)  $k$ -hyperideals by a regular relation of semihyperring and obtain some results.

## 2 Preliminaries

In this section we gather all definitions and simple properties we require of semihyperrings and fuzzy subsets and set the notions.

A map  $\circ : H \times H \longrightarrow P_*(H)$  is called *hyperoperation* or *join operation*.

A *hypergroupoid* is a set  $H$  with together a (binary) hyperoperation  $\circ$ . A hypergroupoid  $(H, \circ)$ , which is associative, that is  $x \circ (y \circ z) = (x \circ y) \circ z, \forall x, y, z \in H$  is called a *semi-hypergroup*. A *hypergroup* is a semihypergroup such that  $\forall x \in H$  we have  $x \circ H = H = H \circ x$ , which is called *reproduction axiom*.

Let  $H$  be a hypergroup and  $K$  a nonempty subset of  $H$ . Then  $K$  is a *subhypergroup* of  $H$  if itself is a hypergroup under hyperoperation restricted to  $K$ . Hence it is clear that a subset  $K$  of  $H$  is a subhypergroup if and only if  $aK = Ka = K$ , under the hyperoperation on  $H$ .

A set  $H$  together a hyperoperation  $\circ$  is called a *polygroup* if the following conditions are satisfied:

- (1)  $(x \circ y) \circ z = x \circ (y \circ z) \quad \forall x, y, z \in H$ ;
- (2)  $\exists e \in H$  as unique element such that  $e \circ x = x = x \circ e \quad \forall x \in H$ ;
- (3)  $\forall x \in H$  there exists an unique element, say  $x' \in H$  such that  $e \in x \circ x' \cap x' \circ x$  ( we denote  $x'$  by  $x^{-1}$ ).
- (4)  $\forall x, y, z \in H, z \in x \circ y \implies x \in z \circ y^{-1} \implies y \in x^{-1} \circ z$ .

A non-empty subset  $K$  of a polygroup  $(H, \circ)$  is called a *subpolygroup* if  $(K, \circ)$  is itself a polygroup. In this case we write  $K <_P H$ .

A commutative polygroup is called *canonical hypergroup*.

**Definition 2.1.** A hyperalgebra  $(R, +, \cdot)$  is called a semihyperring if and only

if

(i)  $(R, +)$  is a semihypergroup and  $(R, \cdot)$  is a semigroup;

(ii)  $a.(a + b) = a.b + a.c$  and  $(b + c).a = b.c + c.a \quad \forall a, b, c \in R$ .

A semihyperring is called with zero, if there exists an element, say  $0 \in R$  such that  $0.x = 0 = x.0$  and  $0 + x = x = x + 0 \quad \forall x \in R$ .

Also a semihyperring  $(R, +, \cdot)$  is called a *hyperring* provided  $(R, +)$  is a canonical hypergroup.

A hyperring  $(R, +, \cdot)$  is called

(i) *commutative* if and only if  $a.b = b.a \quad \forall a, b \in R$ ;

(ii) *with identity*, if there exists an element, say  $1 \in R$  such that  $1.x = x.1 = x \quad \forall x \in R$ .

Let  $(R, +, \cdot)$  be a hyperring, a nonempty subset  $S$  of  $R$  is called a subhyperring of  $R$  if  $(S, +, \cdot)$  is itself a hyperring.

**Definition 2.2.** A subhyperring  $I$  of a hyperring  $R$  is a (*resp. left*) *right hyperideal* of  $R$  provided that (*resp.  $x.r \in I$* )  $r.x \in I \quad \forall r \in R, \forall x \in I$ .  $I$  is called a *hyperideal* if  $I$  is both left and right hyperideal.

We use  $I = [0, 1]$ , the real unit interval as a chain with the usual ordering, in which  $\bigwedge$  stands for infimum (inf) (or intersection) and  $\bigvee$  stands for supremum (sup) (or union), for the degree of membership.

A *fuzzy subset* of a given set  $X$  is a mapping  $\mu : X \rightarrow I$ . We denote the set of all fuzzy subsets of  $X$  by  $FS(X)$ . For  $\mu \in FS(X)$ , the level subset of  $\mu$  is defined by

$$\mu_t = \{x \in X \mid \mu(x) \geq t\} \quad \forall t \in I.$$

For a fuzzy subset  $\mu$  of  $X$  we denote by  $Im(\mu)$  the image of  $\mu$ . Let  $\{\mu_i \mid$

$i \in I$  be a family of fuzzy subsets, *intersection* of  $\mu_i$ 's is defined by

$$\left(\bigcap_{i \in I} \mu_i\right)(x) = \bigwedge_{i \in I} \mu_i(x).$$

**Definition 2.3.** Let  $(G, \cdot)$  be a group and  $\mu \in FS(G)$ . Then  $\mu$  is said to be a *fuzzy subgroup* of  $G$  if  $\forall x, y \in G$  we have :

- (i)  $\mu(xy) \geq \mu(x) \wedge \mu(y)$ ;
- (ii)  $\mu(x^{-1}) \geq \mu(x)$ .

**Definition 2.4.** If  $f : X \longrightarrow Y$  be a function and  $\mu \in FS(X)$  , then we say  $\mu$  is *f*-invariant if and only if

$$f(a) = f(b) \implies \mu(a) = \mu(b).$$

In the sequel by  $R$  we mean a semihyperring.

**Definition 2.5.**[1] A nonempty subset  $I$  of  $R$  is called

(i) a *left (resp. right) hyperideal* of  $R$  if and only if

- (1)  $(I, +)$  is a semihypergroup of  $(R, +)$ ;
- (2)  $rx \in I$  (resp.  $xr \in I$ ), for all  $r \in R$  and for all  $x \in I$ .

(ii) a *hyperideal* of  $R$  if it is both a left and a right hyperideal of  $R$ . By  $I <_h R$ , we mean hyperideal of  $R$ .

(iii) a left hyperideal  $I$  of  $R$  is called *weak left k-hyperideal* of  $R$  if for  $a \in I$  and  $x \in R$  we have

$$a + x \subseteq I \text{ or } x + a \subseteq I \implies x \in I.$$

A left hyperideal  $I$  of  $R$  is called *strong left k-hyperideal* of  $R$  if for  $a \in I$  and  $x \in R$  we have

$$a + x \approx I \text{ or } x + a \approx I \implies x \in I,$$

where by  $A \approx B$ , we mean  $A \cap B \neq \emptyset$ , for all nonempty subsets  $A$  and  $B$  of  $R$ .

A right (resp. strong) weak  $k$ -hyperideal is defined dually. A two sided (resp. strong) weak  $k$ -hyperideal or simply a (resp. strong) weak  $k$ -hyperideal is both left and right (resp. strong) weak  $k$ -hyperideal. We denote  $I <_{w.k.h} R$  (resp.  $I <_{s.k.h} R$ ) for weak (resp. strong)  $k$ -hyperideal of  $R$ .

Clearly, every (strong) weak  $k$ -hyperideal is a hyperideal, but the converse is not true.

**Example.** Consider  $\mathbb{Z}$ , the set of integer numbers. Define new hyperoperations  $\oplus$  and  $\circ$  on  $\mathbb{Z}$  as follow

$$m \oplus n = \{m, n\} \quad \text{and} \quad m \circ n = mn \quad \forall m, n \in \mathbb{Z}.$$

Clearly  $(\mathbb{Z}, \oplus, \circ)$  is a semihyperring. Now it is easy to verify that  $I = \{2k \mid k \in \mathbb{Z}\}$ , is a hyperideal of  $\mathbb{Z}$ , but it isn't strong  $k$ -hyperideal, since  $3 \oplus 2 = \{3, 2\} \approx I$  and  $2 \in I$  but  $3 \notin I$ .

**Definition 2.6** [7] Let  $R$  and  $S$  be semihyperrings. A mapping  $f : R \longrightarrow S$  is said to be

(i) *homomorphism* if and only if

$$f(x + y) \subseteq f(x) + f(y) \quad \text{and}$$

$$f(x \cdot y) = f(x) \cdot f(y) \quad \forall x, y \in R.$$

(ii) *good homomorphism* if and only if

$$f(x + y) = f(x) + f(y) \quad \text{and}$$

$$f(x \cdot y) = f(x) \cdot f(y) \quad \forall x, y \in R.$$

**Definition 2.7** [15] A fuzzy subset  $\mu$  of a semihyperring  $R$  is called a *fuzzy*

left hyperideal of  $R$  if and only if

- (i)  $\bigwedge_{z \in x+y} \mu(z) \geq \mu(x) \bigwedge \mu(y) \quad \forall x, y \in R;$
- (ii)  $\mu(xy) \geq \mu(y) \quad \forall x, y \in R.$

A fuzzy right hyperideal is defined dually. A fuzzy left and right hyperideal is called a fuzzy hyperideal. We denote  $\mu <_{f.h} R$  for fuzzy hyperideal of  $R$ .

**Definition 2.8.**[15] A fuzzy hyperideal  $\mu$  of  $R$  is called

- (i) a weak fuzzy  $k$ -hyperideal of  $R$  if and only if

$$\mu(x) \geq [(\bigwedge_{u \in x+y} \mu(u)) \vee (\bigwedge_{v \in y+x} \mu(v))] \bigwedge \mu(y) \quad \forall x, y \in R.$$

- (ii) a strong fuzzy  $k$ -hyperideal of  $R$  if and only if

$$\mu(x) \geq (\mu(z) \vee \mu(z')) \wedge \mu(y) \quad \forall z \in x + y, \forall z' \in y + x.$$

Note that if  $(R, +)$  is a commutative semihyperring, then the above conditions reduce to the following conditions:

$$\mu(x) \geq (\bigwedge_{u \in x+y} \mu(u)) \bigwedge \mu(y) \quad \forall x, y \in R.$$

and

$$\mu(x) \geq \mu(z) \wedge \mu(y) \quad \forall z \in x + y.$$

We denote by  $\mu <_{w.f.k.h} R$  (resp.  $\mu <_{s.f.k.h} R$ ), for a weak fuzzy  $k$ -hyperideal (resp. strong fuzzy  $k$ -hyperideal) of  $R$ .

**Proposition 2.9.**[15] Let  $R$  be a semihyperring and  $\mu \in FS(R)$ . Then

- (i)  $\mu$  is a fuzzy hyperideal of  $R$  if and only if every nonempty level subset,  $\mu_t$  is a hyperideal of  $R$ .

(ii)  $\mu$  is a weak fuzzy  $k$ -hyperideal of  $R$  if and only if every nonempty level subset,  $\mu_t$  is a weak  $k$ -hyperideal of  $R$ .

(iii)  $\mu$  is a strong fuzzy  $k$ -hyperideal of  $R$  if and only if every nonempty level subset,  $\mu_t$  is a strong  $k$ -hyperideal of  $R$ .

**Lemma 2.10.** Let  $R$  be a semihyperring with zero and  $\mu$  be a fuzzy hyperideal of  $R$ . Then  $\mu(x) \leq \mu(0)$  for all  $x \in R$ .

### 3 Homomorphisms of Fuzzy $k$ -Hyperideals

In this section we investigate the behavior of fuzzy weak (strong)  $k$ -hyperideals under homomorphisms of semihyperrings.

**proposition 3.1.** Let  $f : R \longrightarrow R'$  be a homomorphism of semihyperrings. If  $\nu <_{s.f.k.h} R'$ , then  $f^{-1}(\nu) <_{s.f.k.h} R$ .

**proof.** We know that  $f^{-1}(\nu)(x) = \nu(f(x))$ . Let  $x, y \in R$  and  $z \in x + y$ , then we have  $f(z) \in f(x + y) \subseteq f(x) + f(y)$ , and since  $\nu <_{f.h} R'$ , it concluded that  $\nu(f(z)) \geq \nu(f(x)) \wedge \nu(f(y))$ .

Also

$$\nu(f(xy)) = \nu(f(x)f(y)) \geq \nu(f(x)) \vee \nu(f(y)).$$

Therefore  $f^{-1}(\nu) <_{f.h} R$ .

Now let  $z \in x + y$  and  $z' \in y + x$ , thus  $f(z) \in f(x) + f(y)$  and  $f(z') \in f(y) + f(x)$ , then  $\nu <_{s.f.k.h} R'$  implies that

$$\nu(f(x)) \geq [\nu(f(z)) \vee \nu(f(z'))] \wedge \nu(f(y))$$

as required.



**proposition 3.2.** Let  $f : R \longrightarrow R'$  be a good homomorphism of semihyper-rings. If  $\nu <_{w.f.k.h} R'$ , then  $f^{-1}(\nu) <_{w.f.k.h} R$ .

**proof.** We know that  $f^{-1}(\nu)(x) = \nu(f(x))$ . First we prove that  $f^{-1}(\nu)$  is a fuzzy hyperideal of  $R$ . Let  $x, y \in R$  and  $z \in x + y$ , we should prove that

$$\nu(f(z)) \geq \nu(f(x)) \wedge \nu(f(y)) \quad (1)$$

(1) is valid because  $\nu$  is a fuzzy hyperideal and  $f$  is a good homomorphism, then for  $z \in x + y$  we have  $f(z) \in f(x + y) = f(x) + f(y)$ .

Also similar previous proposition

$$\nu(f(xy)) \geq \nu(f(x)) \vee \nu(f(y)).$$

Therefore  $f^{-1}(\nu) <_{f.h} R$ .

Now we prove that  $f^{-1}(\nu) <_{w.f.k.h} R$ , that is

$$f^{-1}(\nu)(x) \geq \{(\bigwedge_{t \in x+y} f^{-1}(\nu)(t)) \bigvee (\bigwedge_{t' \in y+x} f^{-1}(\nu)(t'))\} \bigwedge f^{-1}(\nu)(y) \quad (2).$$

Note that since  $f$  is a good homomorphism, then  $t \in x + y$  if and only if  $f(t) \in f(x) + f(y)$ , and also  $\nu <_{w.f.k.h} R'$ , we have

$$\nu(f(x)) \geq \{(\bigwedge_{f(t) \in f(x)+f(y)} \nu(f(t))) \bigvee (\bigwedge_{f(t') \in f(y)+f(x)} \nu(f(t')))\} \bigwedge \nu(f(y)).$$

The last relation implies (2), and this complete the proof.

**proposition 3.3.** Let  $f : R \longrightarrow R'$  be a good epimorphism of semihyper-rings. If  $\mu <_{w.f.k.h} R$  (resp.  $\mu <_{s.f.k.h} R$ ) and  $\mu$  be  $f$ -invariant, then  $f(\mu) <_{w.f.k.h} R'$  (resp.  $f(\mu) <_{s.f.k.h} R$ ).

**proof.** First we show that  $f(\mu) <_{f.h} R'$ .

Let  $a, b \in R'$  and  $c \in a + b$ , we should prove that

$$f(\mu(c)) \geq f(\mu(a)) \wedge f(\mu(b)).$$

We have

$$\begin{aligned} f(\mu(c)) &= \bigvee_{z \in f^{-1}(c)} \mu(z), \\ f(\mu(a)) &= \bigvee_{x \in f^{-1}(a)} \mu(x), \\ f(\mu(b)) &= \bigvee_{y \in f^{-1}(b)} \mu(y). \end{aligned}$$

Since  $\mu$  is  $f$ -invariant, then

$$\exists z_0 \in f^{-1}(c), f(\mu(c)) = \mu(z_0),$$

$$\exists x_0 \in f^{-1}(a), f(\mu(a)) = \mu(x_0),$$

$$\exists y_0 \in f^{-1}(b), f(\mu(b)) = \mu(y_0),$$

therefore

$$\begin{aligned} f(z_0) = c, f(x_0) = a, f(y_0) = b &\implies f(z_0) \in f(x_0) + f(y_0) \\ &\implies z_0 \in x_0 + y_0 \quad (\text{f is a good homomorphism}) \\ &\implies \mu(z_0) \geq \mu(x_0) \wedge \mu(y_0) \quad (\mu <_{f,h} R) \\ &\implies f(\mu(c)) \geq f(\mu(a)) \wedge f(\mu(b)). \end{aligned}$$

For proving the second condition of a fuzzy hyperideal, we should prove that

$$f(\mu)(r' x') \geq f(\mu)(x') \vee f(\mu)(r') \quad \forall r', x' \in R'$$

Since  $f$  is onto, then  $r' = f(r)$  and  $x' = f(x)$  for some  $r$  and  $x$  in  $R$ , Thus

$$\begin{aligned} f(\mu)(r'x') &= \bigvee_{rx \in f^{-1}(r'x')} \mu(rx) \\ &= \mu(r_0x_0) \quad \exists r_0 \in f^{-1}(r'), x_0 \in f^{-1}(x') \quad (\mu \text{ is } f\text{-invariant}) \\ &\geq \mu(x_0) \vee \mu(r_0) \quad (\mu <_{f.h} R) \\ &= f(\mu)(x') \vee f(\mu)(r') \quad (\mu \text{ is } f\text{-invariant}). \end{aligned}$$

Therefore

$$f(\mu)(r'x') \geq f(\mu)(r') \vee f(\mu)(x').$$

Now we prove that  $f(\mu) <_{w.f.k.h} R'$ . Let  $a, b \in R$ , we show that

$$f(\mu)(a) \geq [(\bigwedge_{t \in a+b} f(\mu)(t)) \bigvee (\bigwedge_{t' \in b+a} f(\mu)(t'))] \bigwedge f(\mu)(b) \quad (1)$$

Since  $f$  is onto and  $\mu$  is  $f$ -invariant, then

$$f(\mu)(a) = \mu(x_0), \quad f(\mu)(t) = \mu(z_0), \quad f(\mu)(t') = \mu(z'_0), \quad f(\mu)(b) = \mu(y_0),$$

where

$$x_0 \in f^{-1}(a), \quad y_0 \in f^{-1}(b), \quad z_0 \in f^{-1}(t), \quad z'_0 \in f^{-1}(t').$$

Hence (1) reduced to the form

$$\mu(x_0) \geq [(\bigwedge_{t \in a+b} \mu(z_0)) \bigvee (\bigwedge_{t' \in b+a} \mu(z'_0))] \bigwedge \mu(y_0) \quad (2)$$

On the other hand from above discussion and since  $f$  is a good homomorphism  $t \in a + b$  if and only if  $f(z_0) \in f(x_0) + f(y_0)$  if and only if  $z_0 \in x_0 + y_0$ . Similarly,  $t' \in b + a$  if and only if  $z'_0 \in y_0 + x_0$ .

Therefore by (2), it is enough that we prove that

$$\mu(x_0) \geq [(\bigwedge_{z_0 \in x_0+y_0} \mu(z_0)) \vee (\bigwedge_{z'_0 \in y_0+x_0} \mu(z'_0))] \wedge \mu(y_0),$$

but clearly the last statement is true, since  $\mu <_{w.f.k.h} R$ . This complete the proof.

In this part we define the quotient of fuzzy weak (strong)  $k$ -hyperideals by a regular relation of semihyperring

Let  $R$  be a semihyperring and  $\theta$  be an equivalence relation on  $R$ . Naturally we can extend  $\theta$  to  $\bar{\theta}$  to the subsets of  $R$  as follow:

Let  $A, B$  be nonempty subsets of  $R$ . Define

$$A\bar{\theta}B \iff \forall a \in A \exists b \in B : a\theta b, \quad \forall b \in B \exists a \in A : b\theta a.$$

An equivalence relation  $\theta$  on  $R$  is said to be *regular* if for all  $a, b, x \in R$  we have

- (i)  $a\theta b \implies (a+x)\bar{\theta}(b+x)$  and  $(x+a)\bar{\theta}(x+b)$ ,
- (ii)  $a\theta b \implies (ax)\theta(bx)$  and  $(xa)\theta(bx)$ .

By  $R : \theta$  we mean the set of all equivalence classes with respect to  $\theta$ , that is

$$R : \theta = \{r_\theta | r \in R\}.$$

**Remark 3.4.** We know that if  $R$  is a semihyperring and  $\theta$  is a regular equivalence relation on  $R$ , then  $R : \theta$  by hyperoperations  $\oplus$  and  $\odot$  is defined as follow

$$x_\theta \oplus y_\theta = \{x_\theta | z \in x + y\},$$

$$x_\theta \odot y_\theta = (xy)_\theta.$$

is a semihyperring. For  $\mu \in FS(R)$ , define  $(\mu : \theta)(x_\theta) = \bigvee_{y \in x_\theta} \mu(y)$ . Also we know that the mapping  $\varphi : R \rightarrow R : \theta$  defined by  $\varphi(a) = a_\theta$  is a good epimorphism. Now if  $\mu <_{w.f.k.h} R$  and  $\mu$  be  $\varphi$ -invariant then by proposition 3.3 it concludes that  $\varphi(\mu) = \mu : \theta <_{w.f.k.h} R : \theta$ .

**Proposition 3.5.** If  $\mu <_{w.f.k.h} R$  and  $R$  has zero, then  $\mu_* = \{x \in R \mid \mu(x) = \mu(0)\}$  is a weak  $k$ -hyperideal of  $R$ .

**Proof.** First we prove that  $\mu_* <_h R$ . For  $x, y \in \mu_*$  and  $z \in x + y$ , then  $\mu(z) \geq \mu(x) \wedge \mu(y) = \mu(0)$ , hence by Lemma 2.10  $\mu(z) = \mu(0)$ , therefore  $z \in \mu_*$ .

Let  $r \in R$  and  $x \in \mu_*$ , then we have

$$\begin{aligned} \mu(rx) &\geq \mu(r) \vee \mu(x) \\ &= \mu(r) \vee \mu(0) \quad (x \in \mu_*) \\ &= \mu(0) \quad (\text{by Lemma 2.10}) \\ \implies \mu(rx) &= \mu(0) \quad (\text{by Lemma 2.10}) \\ \implies rx &\in \mu_*. \end{aligned}$$

Now suppose  $r + x \subseteq \mu_*$  or  $x + r \subseteq \mu_*$  and  $x \in \mu_*$ , we show that  $r \in \mu_*$ .

From  $\mu <_{w.f.k.h} R$  then we have :

$$\mu(r) \geq [(\bigwedge_{z \in r+x} \mu(z)) \vee (\bigwedge_{z' \in x+r} \mu(z'))] \wedge \mu(x).$$

Since  $\mu(x) = \mu(0)$  and  $\bigwedge_{z \in r+x} \mu(z) = \mu(0)$  and  $\bigwedge_{z' \in x+r} \mu(z') = \mu(0)$ , then  $\mu(r) \geq \mu(0)$ , and then by Lemma 2.10,  $\mu(r) = \mu(0)$ . Therefore  $\mu_* <_{w.k.h} R$ .

**Proposition 3.6.** If  $\mu <_{s.f.k.h} R$ , then  $\mu^* = \{x \in R \mid \mu(x) > 0\}$  is a strong  $k$ -hyperideal of  $R$ .

**Proof.** Let  $x, y \in \mu^*$  and  $z \in x + y$ , then by hypothesis yields

$$\mu(z) \geq \mu(x) \wedge \mu(y) > 0,$$

thus  $z \in \mu^*$ .

If  $r \in R$  and  $x \in \mu^*$ , then we have

$$\mu(rx) \geq \mu(r) \vee \mu(x) \geq \mu(x) > 0,$$

therefore  $rx \in \mu^*$ . Similarly  $xr \in \mu^*$ . Thus  $\mu^* <_h R$ .

Now if  $r + x \approx \mu^*$  or  $x + r \approx \mu^*$  and  $x \in \mu^*$ .

By hypothesis we have

$$\mu(r) \geq (\mu(z) \vee \mu(z')) \wedge \mu(x) > 0 \quad \forall z \in r + x \approx \mu^*, \forall z' \in x + r \approx \mu^*,$$

that is  $r \in \mu^*$ , and hence  $\mu^* <_{s.k.h} R$ .

**Proposition 3.7.** Let  $R$  be a semihyperring with zero and  $x, y \in R$ :

(i) If  $\mu <_{w.f.k.h} R$  and  $\mu(t) = \mu(0) = \mu(t')$  for all  $t \in x + y$  and  $t' \in y + x$ , then  $\mu(x) = \mu(y)$ .

(ii) If  $\mu <_{s.f.k.h} R$  and  $\mu(u) = \mu(0) = \mu(v)$  for some  $u \in x + y$  and  $v \in y + x$ , then  $\mu(x) = \mu(y)$ .

**Proof.** (i) Since  $\mu <_{w.f.k.h} R$  and  $\mu(t) = \mu(0) = \mu(t')$  for all  $t \in x + y$  and  $t' \in y + x$ , then  $\bigwedge_{t \in x+y} \mu(t) = \mu(0) = \bigwedge_{t' \in y+x} \mu(t')$ , thus

$$\begin{aligned} \mu(x) &\geq [(\bigwedge_{t \in x+y} \mu(t)) \vee (\bigwedge_{t' \in y+x} \mu(t'))] \wedge \mu(y) \\ &= \mu(0) \wedge \mu(y) \\ &= \mu(y) \quad (\text{by Lemma 2.10}) \\ \implies \mu(x) &\geq \mu(y). \end{aligned}$$

Similarly we conclude that  $\mu(y) \geq \mu(x)$ . Therefore  $\mu(x) = \mu(y)$ .

(ii) Suppose  $u \in x + y$  and  $v \in y + x$  such that  $\mu(u) = \mu(0) = \mu(v)$ , since  $\mu <_{s.f.k.h} R$ , then

$$\begin{aligned} \mu(y) \geq (\mu(u) \vee \mu(v)) \wedge \mu(x) &= \mu(0) \wedge \mu(x) \quad (\text{by hypothesis}) \\ &= \mu(x) \quad (\text{by Lemma 2.10}) \\ \implies \mu(y) &\geq \mu(x). \end{aligned}$$

Similarly we obtain  $\mu(x) \geq \mu(y)$ . Therefore  $\mu(x) = \mu(y)$ .

## References

- [1] R. Ameri and M.M. Zahedi "Hyperalgebraic System", Italian Journal of Pure and Applied Mathematics, 6: (1999) 21-32.
- [2] R. Ameri, "Fuzzy Transposition Hypergroups", Italian Journal Pure and Applied Mathematics, No. 18 (2005), 167-174.
- [3] R. Ameri and M.M. Zahedi "Hypergroup and join spaces induced by a fuzzy subset", J. P.U.M.A, 8: (1997) 155-168.
- [4] R. Ameri "Fuzzy (Co-)Norm Hypervector Spaces", Proceedings of the 8th International Congress in Algebraic Hyperstructures and Applications, Samotraki, Greece, September 1-9 (2002) ,71-79.
- [5] R. Ameri and M.M. Zahedi "Fuzzy Subhypermodules over fuzzy hyper-rings", Sixth International Congress on AHA, Prague Czech Republic September 1996, Democritus Univ. Press, 1-14.

- [6] S. I. Baik, H. S. Kim "On Fuzzy  $k$ -Ideals in semirings", Kangweon-Kyungki Math. Jour. 8 (2000) 147-154.
- [7] P. Corsini "Prolegomena of Hypergroup Theory", second edition Aviani, editor (1993).
- [8] P. Corsini and V. Leoreanu , "Applications of Hyperstructure Theory", Kluwer Academic Publications (2003).
- [9] P. Corsini and V. Leoreanu , "Fuzzy sets and Join Spaces Associated with rough sets", Rend. Circ. Mat., Palermo, 51: (2002) 527-536.
- [10] P. Corsini and I. Tofan , " On Fuzzy Hypergroups" J. PU.M.A., 8: (1997) 29-37.
- [11] B. Davvaz "Fuzzy  $H_v$ - submodules", Fuzzy Sets and Systems, 117: (2001) 477-484.
- [12] B. Davvaz "Fuzzy  $H_v$ -groups", Fuzzy Sets and Systems, 101: (1999) 191-195.
- [13] T. K. Dutta, B.K. Biswas , "Fuzzy Prime ideals of semirings", Bull. Malaysian math. Soc. 17: (1994) 9-16.
- [14] T. K. Dutta, B.K. Biswas , "Fuzzy Ideals of Semirings", Bull. Calcutta Math. Soc. 87: (1995) 91-96.
- [15] H. Hedayati and R. Ameri, "*Fuzzy  $k$ -Hyperideals* ", Int. J. Pu. Appl. Math. Sci., Vol. 2, No. 2, 247-256.



- [16] Y. B. Jun, J. Neggers and H. S. Kim , "On L-fuzzy Ideals in Semirings I", Czech. Math. J. 48: (1998) 669-675.
- [17] G. J. Klir, T.A Folger , "Fuzzy Sets, Uncertainties, and Information", Prantice Hall, Englewood Clif and only ifs, NJ (1998).
- [18] M. Krasner , "Approximation des Corps Values Complets de Caractéristique  $P \neq 0$  Par Ceux de Caractéristique 0", Actes due Colloque *d'* Algebre Superieure C.B.R.M, Bruxelles (1965) 12-22.
- [19] V. Leoreanu , "Direct Limit and inverse limit of Join Spaces Associated with Fuzzy Sets", Pure Math. Appl., 11: (2000) 509-512.
- [20] W. J. Liu , "Fuzzy Invariants Subgroups and fuzzy Ideals", Fuzzy Sets and Systems, 8: (1987) 133-139.
- [21] H.V. Kumbhojkar and M.S. Bapta , "Correspondence Theorem of Fuzzy Ideals", Fuzzy Sets and Systems 41: (1991) 213-219.
- [22] D.S. Malik and J. N. Mordeson , "Extension s of fuzzy Subrings and Fuzzy Ideals", Fuzzy Sets and Systems 45: (1992) 245-251.
- [23] F. Marty , Surnue generaliz-ation de la notion de group, *8<sup>iem</sup>* course Math. Scandinaves Stockholm (1934) 45-49.
- [24] R. Rosenfeld , "fuzzy groups", J. Math. Anal. Appl., 35: (1971) 512-517.
- [25] T. Vougiuklis , Hyperstructures and their representations, Hardonic, Press, Inc (1994).
- [26] L. A. Zadeh , "Fuzzy Sets", Inform. and Control, vol. 8 (1965) 338-353.

- [27] M.M. Zahedi , M. Bolurian, A. Hasankhani, "On polygroups and Fuzzy subpolygroups", J. of Fuzzy Mathematics, No.1, (1995) 1-15.